

### 4 County Complex Court, Woodbridge, Virginia 22195-2266 Fax (703) 335-7954

November 12, 2025

IFB SA 2608 – Concrete and Asphalt Services

#### Addendum #2

#### THIS SOLICITATION IS HEREBY AMENDED AS FOLLOWS:

1. The attached response to question has been added for clarification.

All other solicitation terms, conditions and provisions remain unchanged and in full force and effect.

Acknowledgement: Bidders/Offerors submitting a bid response for the above named solicitation shall take note of the following changes, additions, deletions, clarification, etc., in the Contract Documents, which shall become a part of and have precedence over anything shown or described in the Contract Documents, and as such shall be taken into consideration and be included in the Bidder/Offeror's response. All other terms and conditions of the Invitation for Bid (or Request for Proposals) shall remain unchanged.

Bidders/Offerors must acknowledge receipt of this amendment by signing and returning this addendum with the bid/proposal response prior to the bid/proposal deadline.

| Authorized Signature | Date  |  |  |  |  |
|----------------------|-------|--|--|--|--|
| Name Printed         | Title |  |  |  |  |
| Company Name         |       |  |  |  |  |

Direct all inquiries to procurement@pwwater.org

# **Question and Response**

**1. Question:** Would you mind sending me the unit pricing for the 2024 Concrete & Asphalt Services by chance?

**Response: Attached is the current pricing schedule:** 

| LOT 1 (UNIT PRICES) FOR WORK HOURS 7:00 AM to 5:00 PM |  |                    |      |              |                  |  |
|---|--|--------------------|------|--------------|------------------|--|
| A   | В  | C                  | D    | E            | F                | G  |
| Item<br>No.   | Item   | Est.<br>Quantities | Unit | Unit<br>Cost | Total (C x E= F) | % of asphalt<br>Cement<br>used in asphalt<br>mix formula |
| 1   | Regular xcavation500 c.y. or less                      | 500                | CY   | \$20.00      | \$10,000.00      | N/A  |
| IA  | Regular Excavation over 500 c.y.                       | 1000               | CY   | 15.00        | \$15,000.00      | N/A  |
| 2   | Borrow Material  | 1000               | CY   | \$15.00      | \$15,0000.00     | N/A  |
| 3   | Subgrade stabilization<br>Material                     | 200                | SY   | \$10.00      | \$2,000.00       | N/A  |
| 4   | Base Material Type I - I" in depth (100 SY or less)    | 50                 | SY   | \$10.00      | \$500.00         | N/A%   |
| 4A  | Base Material Type I - I" in depth ( over 100 SY)      | 500                | SY   | \$5.00       | \$2,500.00       | N/A%   |
| 5   | Asphalt Pavement BM-25<br>l" in depth (100 SY or less) | 500                | SY   | \$35.00      | \$17,500.00      | 4.5%   |
| 5A  | Asphalt Pavement BM-25 I" in depth (over 100 SY)       | 1000               | SY   | \$10.00      | \$10,000.00      | 4.5%   |
| 6   | Asphalt Pavement SM9.5 I" (100 SY or less)             | 500                | SY   | \$35.00      | \$17,500.00      | 5.5 %  |
| 6A  | Asphalt Pavement SM9.5<br>1"(over 100 SY)              | 1000               | SY   | \$10.00      | \$10 000.00      | 5.5%   |
| 7   | Crack Sealing  | 1000               | LF   | \$0.55       | \$550.00         | N/A  |
| 8   | Sealer Coating   | 1000               | SY   | \$0.90       | \$900.00         | N/A%   |
| 9   | Topsoil and Seeding                                    | 1000               | SY   | \$1.50       | \$1,500.00       | N/A  |
| 10  | No #5 Stone  | 200                | TONS | \$35.00      | \$7,000.00       | N/A  |
| 11  | Dry Rip Rap Class I                                    | 30                 | TONS | \$45.00      | \$1,350.00       | N/A  |
| 12  | Erosion Control Stone<br>Type A                        | 30                 | TONS | \$30.00      | \$900.00         | N/A  |
| 13  | Erosion Control Stone<br>TypeB                         | 30                 | TONS | \$30.00      | \$900.00         | N/A  |
| 14  | Stone (No. I Aggregate)                                | 30                 | TONS | \$30.00      | \$900.00         | N/A  |

| 14A | Stone (No.3 Aggregate)                              | 30   | TONS       | \$30.00  | \$900.00    | N/A |
|-----|---|------|------------|----------|-------------|-----|
| 15  | Straw or Hay Bale Barrier                           | 100  | LF         | \$25.00  | \$2500.00   | N/A |
| 16  | Temporary Filter Barrier                            | 100  | LF         | \$5.00   | \$500.00    | N/A |
| 17  | VDOT Std Curb and<br>Gutter (less than 100 ft.)     | 200  | LF         | \$40.00  | \$8,000.00  | N/A |
| 18  | VDOT Std Curb and<br>Gutter (more than 100 ft.)     | 200  | LF         | \$40.00  | \$8,000.00  | N/A |
| 19  | VDOT Radial Curb and<br>Gutter                      | 200  | LF         | \$40.00  | \$8.000.00  | N/A |
| 20  | Handicap Ramps                                      | 25   | SY         | \$25.00  | \$625.00    | N/A |
| 21  | Sidewalks   | 500  | SY         | \$63.00  | \$31,500.00 | N/A |
| 22  | Std MS-1 Median                                     | 100  | SY         | \$61.00  | \$6 100.00  | N/A |
| 23  | Std Ent. Gutter                                     | 200  | SY         | \$60.00  | \$12 000.00 | N/A |
| 24  | Expose Aggregate Concrete Depth 4"                  | 200  | SY         | \$40.00  | \$8,000.00  | N/A |
| 25  | Concrete Class A-3                                  | 50   | CY         | \$350.00 | \$17,500.00 | N/A |
| 26  | Reinforcing Steel                                   | 1000 | LBS        | \$1.00   | \$1,000.00  | N/A |
| 27  | Wire Mesh   | 500  | LBS        | \$1.50   | \$750.00    | N/A |
| 28  | Allaying Dust by application of Water               | 10   | HOUR<br>s  | \$25.00  | \$250.00    | N/A |
| 29  | Removal and Disposal of<br>Existing Curb and Gutter | 500  | LF         | \$3.00   | \$1,500.00  | N/A |
| 30  | Removal and Disposal of Existing Concrete           | 500  | CY         | \$55.00  | \$27,500.00 | N/A |
| 31  | Removal & Disposal of Existing Structural Concrete  | 200  | CY         | \$55.00  | \$11,000.00 | N/A |
| 32  | Milling (remove up to l")                           | 100  | SY.        | \$3.00   | \$300.00    | N/A |
| 33  | Asphalt Pavement Removal (Up to 4" Depth)           | 500  | SY         | \$7.00   | \$3,500.00  | N/A |
| 33A | Asphalt Pavement Removal (more than 4" Depth)       | 250  | SY         | \$7.00   | \$1,750.00  | N/A |
| 34  | Flagger Service                                     | 20   | HOUR<br>\$ | \$25.00  | \$500.00    | N/A |
| 35  | Traffic Control                                     | 5    | DAY        | \$100.00 | \$500.00    | N/A |
| 36  | Dewatering ( 2" pump or less)                       | 10   | HOUR<br>s  | \$5.00   | \$50.00     | N/A |
| 36A | Dewatering (3"-6" pump)                             | 10   | HOUR<br>s  | \$5.00   | \$50.00     | N/A |
| 37  | Single Line Pavement<br>Marking                     | 500  | LF         | \$1.00   | \$500.00    | N/A |

| 38 | Double Line Pavement<br>Marking             | 500 | LF | \$1.00  | \$500.00     | N/A |
|----|---|-----|----|---------|--------------|-----|
| 39 | Stop Lines                                  | 20  | LF | \$5.00  | \$100.00     | N/A |
| 40 | Yield Lines                                 | 20  | LF | \$1.00  | \$20.00      | N/A |
| 41 | Parking Space Line<br>Pavement Marking      | 500 | LF | \$1.00  | \$500.00     | N/A |
| 42 | Handicap Parking Space<br>Emblem            | 10  | EA | \$45.00 | \$450.00     | N/A |
| 43 | 72" x 9"x 5"Concrete<br>Bumpers(stops)      | 10  | EA | \$70.00 | \$700.00     | N/A |
|    | LOT 1 TOTAL ( Items 1 through 43, Column F) |     |    |         | \$269,045.00 |     |

| LOT 2 (UNIT PRICES)                               |       |            |  |  |  |
|---|-------|------------|--|--|--|
| I. ITEM   | IL    | III. RATES |  |  |  |
| Superintendent                                    | Hours | \$70.00    |  |  |  |
| Foreman   | Hours | \$62.00    |  |  |  |
| General Laborer                                   | Hours | \$32.00    |  |  |  |
| Carpenter   | Hours | \$47.00    |  |  |  |
| Carpenter Laborer                                 | Hours | \$32.00    |  |  |  |
| Form setter                                       | Hours | \$47.00    |  |  |  |
| Concrete Finisher                                 | Hours | \$47.00    |  |  |  |
| Concrete Laborer                                  | Hours | \$32.00    |  |  |  |
| Bricklayer  | Hours | \$52.00    |  |  |  |
| Brick Mason (Finished Work above ground)          | Hours | \$52.00    |  |  |  |
| Brick Mason Laborer                               | Hours | \$52.00    |  |  |  |
| Stone Cutter                                      | Hours | \$50.00    |  |  |  |
| Stone Cutter Laborer                              | Hours | \$77.00    |  |  |  |
| Dump Truck - 2 ton w/3cu. Yd. Body or larger with | Hours | \$77.00    |  |  |  |
| Operator  |       |            |  |  |  |
| Tandem Dump Truck - Dual Wheel with Operator      | Hours | \$42.00    |  |  |  |
| Certified Welder w/Welder Welding Machine         | Hours | \$77 00    |  |  |  |
| Carryall Truck or Pickup with Operator            | Hours | \$77.00    |  |  |  |
| Equipment Operator(for rental Equipment)          | Hours | \$77.00n   |  |  |  |
| Pavement Marker                                   | Hours | \$110.00   |  |  |  |
| Pavement Marker Laborer                           | Hours | \$100.00   |  |  |  |

## End of Addendum 2